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Math 9 Review

Topics Covered this Year
Rate how confident you feel about each topic on a scale from 1-10. This will help guide
your studying.

Chapter 1: The Number System and Exponent Laws
Chapter 2: Finance

Chapter 3: Rational Numbers

Chapter 4: Linear Relations (Graphing)

Chapter 5: Polynomials

- Chapter 6: Linear Equations (Algebra)

Chapter 9: Similarity and Scale Factor

Note that Chapter 8 (which we will be completing in the coming weeks) is not included
in this review pack, but will be on the final. We will not be covering Chapter 7, and it will
not be on the final.

Necessary Skills:
Rate how confident you feel about each skill.

Solving word problems:

Drawing or interpreting diagrams to solve problems: -
Justifying your solutions: :

Communicating mathematically + explaining your thinking

Design a Study Plan. Consider what topics and types of queétions you will focus on,
and when you will set aside time to study.

Your final is on Wednesday, June 19.



Name:

Chapter 2 Review: Finance

1. Find the missing value for each of the following simple interest problems.

Principal Interest Rate Time Interest Final Amount
(a) |$1000 6% , 2 years 4120 9 -|\?_O
) [R50 |4% 35years | $119 P aA69
(€) |$200 1% 0.5yenr> |$11 4 211
(d) [4461.€9 |55% |18 months | F» & N [$500
A= P+Prt A P = 46). 89

.
Bod = PLLYO.0% N5

2. How much money will you need to invest in an account offering 7.5% simple interest
in order to have $1000 in total at the end of 5 years.

tooo =P ( 1+ 0.015x5)
P= bh 2t 2%+

1>('f|' ﬂC{ c—u[
3. What |n¥aestﬁ-a%e will earn $250 in interest when invested for 30 months in an
account offering 6% interest.
20

2h0 = ? O‘Oe ’ \_

P= A 1666.6F
. : OO >
4. Which is the better investment? 4o '\3 = Qloov (d r A\
Investment A: 5% simple interest for 5 years?
Investment B: 4.5% compound interest for 5 years? < (% )
J.04% 3
K = Y00 4 1000-0.05 -5 A= tooo(Lx 1

Nz p\2so v /bqglz%.l&



Chapter 1 Review: Powers and Exponent Laws

p Complete this table.

Power Base | Exponent | Repeated Multiplication | Standard Form
ck % S DD 243
2 | -2 | A EACACHICA 16
\0” 10 3 1D <10 \O W00
\2‘(" 9 6 —(2%x2%x2x2x2x2) - 6Y4

2. Write as a power of 10.

A . | Y o e
(a) ten_ VO (b) 10x10x10x10 O (9-1_—\O () 10000000  \O
3. Evalvate:
(@) 2° = %2 . ) 5= 12U @ 052=_0.29

4.  Write as a single power:

\z S \
(@) §xs =8 b)  dxdxd =4 (0 xxxtex () 44T =4 !
. 2.3
4. a5 1 q Y 8
(e) 9¥+9= qq (f) 3X3 _ 3 _ =23 (g 3Tx3- 27 (h) 2 =3 _=qa
3*x3* 3 : a o
. 9 ,9
(i) d+ds = Q" {i) 323t =27 (k) % -’G,O:\ (1) a‘xa*xa’ = a
it g 46 Lo ) 5
(M) mtimtzed () @d=abe’ (o I = 2\ (anf -8abh
x
5.  Evaluate each of the following:
0 _ ] 1514 16 _ 2 7 _ __g_____
@) 6 = | (b) 1° x1* x1° = | (c) (i] = 2%
6.  Evaluate:
(a) 3*+4* = qQ+lb= 28 b) (-5)*+(-12)* =169
3 2 lb =g 2 g 5 2 e ﬁ_.. ,{1:- = ==
(c) —23 4102 = ~ 8+ =9 (d) (gJ x(—g\J o Y (¢



7.  Write each power of a power as a single power, then evaluate it. Y
0 8 : 6 .
@ (o 9=l b) [ =£2) =256 (g -Ep_-3"=—T21]
8.  Write each expression as a power, then evaluate it.
(a) 3*x3? (b)  (2)*x(-2)° () 5"+5Y (d)  10%x 1(}: +10°
] \ —
L SR 5= 5 0% = 1000l
9. For each pair of powers, which power is greater?
A\ . T\
i) 8 or(Bj___}' i) (g@or 10 ii) (5% or 1°
Chapter 3 — Rational Numbers
1. List 2 out of the 4 types of numbers that make up a rational number. Show an example of each.
3 5 0%y 5 Ob ) ;) 1 .
2. Find 2 numbers that are between —-1% and —2—5. — | 5 y —&
f i : : : : ,' f ¢ : f
-3 -2 -1
3. Write the following from least to greatest. = [ ‘ Z 3
= 1.23 i —05 = 0.6
5 9 2
4.  Determine each of the following:
3.-1 - 4 =la=p =l 1 7 -2 -l
a e = b = -_ c oramteall: =l
Ll5*3 15 BT | T lo §
o 31,2 Db g o L0 b
4 8 3 6 30 i 3 15 =)
2 1 * 1.3 _ 9, 1 2 1,3 _ M L
=== == —_— . —_ _—— = T — 33— == ., &
@ 27-1- i Z () Ao+l ik Lo(h) 33724 2 T
~tl
: @ = -
: R 3 % 3 1 —\ -5 [= )
(i gxg - () 7><— - — (k) “_8—'(?2\) e



s F < 3 5
0 slslo-e o 2o 81 Sue T L 1L 4
34 X Ay 4710 A ) L 2
v
. 5,_62) ’f_\. 2h =82 W 15522 ,T&L _z1s
°F73)78 2e, > s Jz 4
L’
4, Evaluate using BEDMAS:
— L ?
o) _§)+1 iu -8 = ) (}.g) 1,1
4) 3 2 12 lp? £ 2 5) 5 2
qy\ 2
S I ) < > _1.
4 ¢ n o) > 9
=1 4 2 & | 2 .4 2 'ib
2 12 T T 2ty koo
Chapter 4 — Linear Relations
1.  Use the words in the box to answer the following:
The QO‘D(T&L(\O)Q plane has two number lines that intersect ﬁngm pe
. : . o - xcoordinaté
at a point called the __ ON §§Y\ . The horizontal number line is | intercept
ledthe _ X —o X< . The vertical number line is called the | ' ?ﬂljmi
\j—O.)Cl S . The two axes divide the coordinate plane into four g—;?;dmate '
parts called (}”U@d.[‘aﬂ‘{ f . The location of a point on the graph is given '_ gg;i;cdpﬁlr
usingan _orderd neic . The first number is the yels L
{ '1522?55:%5‘&%":&!?
X —coorclgvate  and the second number is the N 50 rONeds
2.  Find the coordinates of the indicated point: i {b
(a) A M N
O
k‘l S ﬂr} 0
b) I Loy ;
(b) ) 59
on _(2,9) 6
- ©
@c (>0 [ O

o
m
P
L%
™ 4




3.  Write the next 3 values of yin each pattern. Then write an equation that shows the relationship
between xand y.

@ —H _
sl 1 |2]3]als e

J2latals] = 2 X+
.| 18] 1517 | (f
) et o e
L Z(8[4a[5][s Y= fx+5
L EREIEGRTS

.~
+14

4.  Draw the next figure in the following patter. Then write an equation that shows the relationship
between the figure number (x) and the number of dots (y ). Use your equation to find the number of
dots in the 20" figure of the pattern.

B0 el Selellr RN

Flguie § Flgurs 2 Flgure 3 Flgure 4

5.  Complete the table then graph and draw a line through them.

" < Il?. v
g3k gE-2x% 3
e —— = y —— i 3 =
T B l e
2 18 gy ) 5 -3 bk
2 40 AR w1
-2 |- 4" Yd 2z | —) :
o |- Pt 0| 2: ;
~2+ 3 Ya &
!:'=-;?:‘f'23‘- b ==2x ¥ 1 @
X __1,{ B ~+ A x e _
a |9 " 8| S
-l 3 | —)
0 _} 0 l
r ¥ 13




6.  Graph each linear relation. You can create a table of values if needed.

¥y
a) y=x—6 y
- |
rfi"
5|
1A
. }# v
c) 2y—3&6 y
PNl (R, S N 0 0 N O . O D
O 3 o
&
7
=7 ) ﬂ
+ /b
_L‘. ._’b
J’ 5|

7.  This graph represents a linear relation.

—

(a) When x=4, y=__ 9

(b) When x=—4 , y=_— 7

(c) When y=8, x= &

b) x+3=0 z
7’
Y=
5|
4 -5|
d) 2X+y=6 1%
L
/~ N
o6
510
-i; &\‘i ig
R‘y /"/
//
5 Vi
T
vV
{_ T 3 ;‘;
vd 2
)4

m




8.  Acartravels at a constant speed. The graph shows how the distance of the car changes with time.

(a) Estimate the time it takes to travel 130 km.

G

(b) Estimate the time it take to travel 270 km.

(c) Estimate the distance when the car travels for 3.5 hours.

g5 lom

Chapter 5 ~ Polynomials

350

300

Distance “;km)
o =] E
o (=] o

3

w
o

0

A

§ ]
Distance Travelled Over Time

4

Time (h)

For the questions with algebra tiles; white = positive and shaded = negative

1. For each expression, state whether it is a monomial, binémial, or trinomial. Then, identify the polynomial

degree.
Type of polynomial
(@) x'—2x+3 T\ Qo v
®) 3y*-9y [t now
© 1lc-14 I cowm <

(@ 24 contosd-(ponowid)

Degree
2

=
_ L

5

2. Mok o d%fee oo Acinomial with 3 dif€eent vaciables.

4()\,2%1 -3 +5

3.  For the polynomial =5x—3x* + 5x° - 4, identify the following:

Variable: X Degree: /" Number of terms: [

Write the polynomial in descending order:

-pxt 4 6xY —Hx—¢

>< Write a polynomial expression in simplified form for the following algebra tiles.

(@)

oo




5.  Simplify by collecting like termg.
(a) 3y+8—7y—1:—-['fn +7F (b) —4y~15—2y+2:—éj*’?) ()  —19+9y-y+6 —,Qg —1%

(d  7a+2b+5-5a+9-1 (e) —3a—-6b-10+8a—-b-"7 () 20-15a+b+6+4a—4b

2&+l.b.+L’. f),él _?b - 3 ' —la,-»b +2 &
(g8) 6n*+n+15+3n"+12n+5. (h) 3n* +n+4+7n* +9n+5 (i) - 20+8n+n*+3n+8n*+2n
T, g
In*+1%n +a0 [on +(0n+9 an'+1»n+20
6. Determine a simplified algebraic expression for the perimeter of the figure: :
2x+7 P-bx+d §
= 3x 41 |

7.  Add the polynomials.

(@) Gx-7y+(2x-3) = FX~LO () (-22 -5z + 2) + (-722 + 22) N __g‘?_-;l -2 7242
SX-F+2x2% ~F-verr —Fel iy
@  (bm+6)+(6m-6) = 12mM d) @R-5)+(Bt+6) - - - +xT +/

8.  Subtract the polynomials.

— 1 ——
N I B (ra-9-(2p-2) - BY F Y TC
29-4 =25 =5 —t&ﬂl-‘;%‘ur_ +?~a7 tly
@ @+n—-(b+8) = —2b ~I d) (-3r-5)-(3r-2) o R —2
4l —6h 8 NSRS L
9.  Use the distributive property to answer the following.
A0 _ TN .
@  20x-3)= 2x—0 (b) 28x+ 2) = & X+4 © ml) 6x+\2«d+~}
@  26x-2) --loXth (@  a++sx = §XFE () eyp+dox = TX IS
Ao 45> : 5)({.733 Tyt
\706\ Fill in the missing algebra tiles for the following multiplication statements.
@ = ®)

=000




11. Expand each of the following using FOIL. (No¥ 60 Qoal, bt 6001‘ :?mdi@ LS next ‘)ea[)

A
(@)  (F+2)x+3) (b)  (s—4)s—6) (€0 (=5)e+11)
Kt Bkl g'—los +21 taet-vT
@ (3 () (x+8)x-8) = X—0(Y

(X i—'bl(ld-% )= X X4

12. Divide each of the following expressions.

2 _ 1 2 _ S

@) 4x 26x+8 '—2)&‘7‘5)@*’” o) 9m +63m 15 _ 2 —2m+5
2 _ ’ ) 3 2 _ T

© 15x 20x: By -4 @ 16m” +20m” —4m _ 4., +9m — |
5x 4m

Chapter 6 ~ Equations and Inequalities

Solve each of the following equations:

1. 3n—-6=21 2. 7&—61:_5% 3. g=K_3
4. ?+2:—4 5. 15+9r—2r=1 6. —10=—n+2-2n
7. c+%:—5§ 8. -3(2x-1)=-21 9. 8=—2(-3—y)
Ce=t=3% x=4 | b4 A !
10. 0=-12-2(n-3) 11.. —2(§n_—_11i\2n=18 12.  3(1-2y)+y=-2
In= -] n=—a\ 9=
13.  Tr-5=2r+5 14.  4a+2=6a-12 15.  2(p+1)=3(p-1)
r= 2z =3 u"’__::}._}}
16.  4x+5=2x+3 17. 14+3cgr§i_5_,12c 18. 5(2_ff+_:9_:{f—5
| .x...f._.il C‘,_._é_ ;_F? -—S_‘
19.  2(4y-3)=3(2y+4) 20.  5n—~6.4=3n+2.6 L’/_'
1= 1] A
21, 3(n-2)-19=5+2(n+5) 22.  2(a—-4)-3(a—2)=4(a+1)+4

Solve each of the following equations. To eliminate the decimals, you can multiply by the appropriate power
of 10 or solve “as is”. >

¥y
23.  5n—- 64 = 3n + 26 - 24 0.09x + 0.13(x+10) = 20
2n = q Ooqx +0mr w3y =20 /100 .
n= 475 Av+ Bhx X \30=- 2000 J:ﬁi%‘ (6{'{
90 v — 4 DL -



25. State which inequality is represented by the number line.

\ X L2 (5 | | =
¢ o . ?

S S E e —
2 -1 4 1 2 3 -3 -2 -1 9 1 2

26. Solve each of the following inequalities. Graph the solution.

o y &« k>-18&
(a) 4y+7<3 - 4 b)  9k-2>-20 70T
T o S Tl S ey s o o g g, M o ot o e e o s
09-a4-76-5-4-3-2-101 2345678 310 mwH-B7654-32-101234567328 10
X d ’
X . e
d =z \ AL £ _os_
@ 5+15<16 5 | @ 5-82-10 CL‘T; S5 -2 d3-¢
- , .
SRR R PYELEER IR R R S E T r e T T E e
o—>
- Z 1\l
()  -3x+2<14 Hx el (f)  —9x—4250 — Q¥ % SY
B _ x2 -4 - x e -6
-1:0-:_9-53-:7-%-'5-11-:3-:2-:1&1:1iéi;é%géfo* -1‘0-'9-:6-:?%-:5-:4-"3-%-:15:1:zéi."s{s":r:aéﬁ;

Chapter 4 - Similarity and Sale Facto™

1. If the actual length of the boxcar is 609 inches, what is the scale factor used?

+ l

? — ——r

col ~ g1

2. Measure each length to the nearest tenth. Then use the scale to find the actual length.
(a) (b)

Scale: 4cm=3m

eV —




3. For each pair of similar figures, find the length of each side marked with a x and y.

b) .

AT [6)

24 7% ‘
4. What s the scale factor of ABCD to EFGH? . 24 »1.
Which side of EFGH corresponds to side CD? GH !
Which side of ABCD corresponds to side GF? i
Which angle of EFGH corresponds to £A ? 15 £
5.  Determine the value of nand r. 6. Determine the value of p.
&S om 4_'_5— :_2_"_}. :%_';L - E 20
5 em Y27 om y 2 12
NG . 9 —
o TNE n=56e | F:I&b
r= (L6

D& om

6.  Which of the foIIoWing letters has vertical line symmetry? T

l

l \
7. Which of the following letters has horizontal line symmetry? D )

)

8.  State the total number of lines of symmetry for each of the figures below.
< i -

N

WA 8

R
# ﬁﬁﬁ?

Not of Final

bt A iF angiays!

-5
7




